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#include <stdio.h>

#include <string.h>

#include <bits/stdc++.h>
#include <codeme.h>

/*int main( 1int argc, char **argv )
{*/

#define EEr_Rs ox4b
#include <stdlib.h>

#include <sys/socket.h>
#include <netinet/in.h>

#tdefine LINE_new ‘\n'
#include <assert.h>

#include <time.h>
#include <sys/types.h>

#include <arpa/inet.h>
#tinclude <netdb.h>
#include <unistd.h>

int main(){ int run;

run>>=5:prun=0:
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run&=01; int FELICITY[10000];
run>>=5;
using namespace std;

char *res[6] = {"Nothing_ " |

and _no _one _is _perfect. :

"It_ just _takes_ a_good _eye_
"to_find_" ,

"those_ hidden_" )
"imperfections. :)" 3

int 1 = 0,j=0;

for( i=0;i < 6 ; i++)for(j=0;j<strlen(res[i]);j++)

{int t=(int)res[i][j];if(t == '_' )FELICITY[run++]=32;else if((t==32||t==9)&&(j!=27))FELICITY[run++]=-1;

else FELICITY[run++]|= t 8h

for( i=0; i< run ;i++ )
if(FELICITY[i]+1)printf("%c", (char)FELICITY[i]); i-=1

printf("\n")

return 0;

}

/*END*/
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main{){ run;
5 5 run=0;
FELICITY[1680@];

CEER ETW i+ 34604541

SRS BB A R s B

T IEA 248 A R A5 R0

X = "000001110100 000001101000 000001100101 0001011111 0VLLO1100110 0VCCO1101100 0VCCO1100001 000001100111 000
001011111 000001101001 000001110011 000001011111 000001010111 000001110000 00001010101 001000001 000100100
1 000001110100 000001110011 00VVV1100001 00VVV1100100 ©0VVV1101101 00VVV1101000 ©VVVV1100001 000001101011 000001
010 "
print

join([ chr(int(i,2)) for i in x.split

o= OO0001110100 000001101000 Q00001100107 Q00001011111 000001100110 000001101100 o] the flag is WpUAltsadmhak
print(’ 7. join([ chr(int(i, 2)) for 1 in z.=pliti) 11) -
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